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* POWER SUPPLY English

CITIZEN model SDC-444S is a dual-powered (high power solar +
back-up battery) calculator operative under any lighting conditions.
-Auto power-off function-

The calculator switches the power off automatically if there has
been no key entry for about 10 minutes.

-Battery change-

If the back-up battery needs to be changed, open the lower cabinet to
remove the old battery and insert a new battery in the indicated polarity.

* KEY INDEX English

ON1: Power on / All Clear key.
[CEIC] : Clear Entry / Clear key.

: Price Mark-up/down key
[00—0] : Shift-back key. [M+] : Memory plus key.
[M-] : Memory minus key. [+ /-] : £Sign change key
[MR] : Memory recall key [MC] : Memory clear key
[MII+] [MII-] [MII ] : The Second Memory key

A F

Decimal place selection switch

Floating decimal mode

-0-2-3-4- Fixed decimal mode

-A- ADD-mode automatically enters the monetary
decimal in addition and subtraction calculations

1sat

Round-up / Round-off / Round-down switch

The Signs Of The Display Mean The Following:
M1 The first memory loaded. — Minus ( or negative)
MIl The second memory loaded E Overflow-error.

* OPERATION EXAMPL

1.Calculation Examples
Before performing each calculation, press the [%] key.

Example Key operation Display
tel 1X2x3=6 5] o
1X12[x]3[7] 6.
[CE/C] o.
A0234F _ _
Cg 2X876 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3[+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[5] 12.
1234 x 100 12345 [00-0] 1234
= 123,400 [x] 200 [=] 123'400
5x3+02=75 5[X13[:]0.2[4] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% = 20%  11.2 [+] 56 [%] 20.
30 +(30x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5[x1[=] [=] [=] 625.
J1aa =12 14411 12.
£0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1541 1/30=0.0333.... 30 [+] [5] 0.03
1
A0234F @x5 4 —0166.. 2K5HAFI[) 0.16
2.Memory Calculation
tsal (12x4)-(20+2)= [N 0.
oo 38 12 [x] 4 [M+] 20 [£] 2 [M-] w10,
No2aar [MR] M 38
""" [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] m 60.
20x 3 =60 25 [x] 4 [M+4] wi - 100.
25x 4 =100 [MR] mi 190.
(total A= 190) 10 [] 5 [MII+] 4 [x] 2 [MII+] 8.
10+5=2
Ax228 M) . 10.
(total B = 10) [MR] [] w190,
A+B=19 MIE] . 10.
[ w10
el 0.
3.Constant Calculation
1541 2+3=5 2[+3[] 5.00
4+3=7 419 7.00
nozaap 3X4111=12333  3[4.111[=] 12.34
3x6=18 6[=] 18.00
4.0verflow Error Clear
123456789012 x 100 1234567890123 E 123456'789'012
= 12345678901200 [00-+0] [x] 100 [=] E 12.3456789012
vy 0.
5.Price Mark-Up & Down Calculation
1541 200+(P x20%)=P 200 [<] 20 [MU] 250.
pe 20 _ oo MU] 50.
A0294F  1-20%
250-200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
po_125 _ 00 IMU] 25.
1+25%
125-100 = 25
6.Delta Percent
1sa 1825;50 x100% = 180 [-1150 [MU] 20.

A0234F 20%
[e— )]



* ALIMENTACION

Modelo CITIZEN SDC-444S funciona gracias a un mecanismo de doble
carga (luz solar y bateria de apoyo), lo cual le permite operar bajo
cualquier condicion de iluminacion.

-Funcién de desconexién automatica-

La calculadora se apaga autométicamente si no ha sido utilizada
durante10 minutos aproximadamente.

-Reemplazado de la pila-

Si la pila de apoyo necista ser reemplazada, quite los tornillos del
departamento inferior y sustituya la pila gastada por una nueva.
Coloque la pila en su posicion correcta, con la polaridad indicada.

* TECLADO INFORMATIVO

[2%] : Tecla de encendido / Borrar todo.
[CE/C] : Tecla de borrar entrada / Borrar.
[MU] : Tecla de subir o bajar precios.
[00—+0] : Tecla de anular el digito ultimado.

[M+] : Tecla de memoria positiva.

Tecla de memoria negativa.

—] : £Tecla de cambio de signo

[MC] : Tecla de limpieza de memoria

[MR] : Tecla de llamada de memoria

[MI1+] [MI1-] [MII§] : Tecla de la segunda memoria

[ ) Selector del lugar decimal
-F- Modo decimal flotante
-0-2-3-4- Modo decimal flotante
-A- Modo ADD: ingresa automaticamente el decimal
monetario en célculos de sumay resta
154 Redondeo hacia arriba / Sin redondeo / Redondeo
hacia abajo

Los signos del visor significan lo siguiente:
MI : La primera memoria esta cargada.
MII : La segunda memoria esta cargada.
— : Menos (0 negativo)

E : Error de desbordamiento.

* EJEMPLO DE FUNCIONE

1. Ejemplos de calculaciéon

Antes de realizar cada célculo, presione la tecla [%].
Ejemplo Operacién con la tecla Visualizacion
oy 1x2x376 oy 0.
1[x]2[x]3[=] 6.
[CE/C] o.
A0234F _ -
g 2X376 2 [x] 2 [CE/C] 3[=] 6.
2+4+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+] 4+ 6[=] 12.
1234 x 100 12345 [00-0] 1234
=123,400 [x] 100 [=] 123'400
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [] 56 [%] 20.
30+ (30 x 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [] 40 [%] 18.
5'=625 5[ [=][=] =] 625.
Jiag =12 144 /] 12.
A0234F
...... $14.90 + $0.35 — $1.45 1490 [+] 35 [-] 145 [+]
T 1 $1205=$25385 1205 [=] 25.85
1541 1/30=0.0333.... 30[<] 7] 0.03
|— ) 1
AQ234F x5 0166 2KSEHI4F[E 0.16
2.Célculo de memoria
teul (12x4)-(20+2)= [N 0.
o 38 12 [x] 4 [M+] 20 [+] 2 [M-] w10,
[MR] w38
A0234F
[— ) [MC] [CE/C] 0.
15x 2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60,
20x3 =60 25 [x] 4 [M+] w 100.
25 x 4 =100 [MR] w o 190.
(total A= 190) 10 [+]5 MIH] 4 [x] 2 [MII+] o0 8.
10+5=2 A i
4x2=8 MITE] i 10.
(total B = 10) [MR] [£] w190
A+B=19 MNg] w10
= .10
R 0.
3.Constante
1547 2+3=5 2+ 3= 5.00
4+3=7 4= 7.00
nozaep 3X4111=12333  3[x]4.111[] 12.34
C W ) 3x6=18 6[=] 18.00
4.Limpieza de error de desbordamiento
123456789012 x 100 1234567890123  E 123'456'789'012
= 12345678901200 [00—~0] [x] 100 [=] E 12.3456789012
g 0.
5.CALCULO DE SUBIR O BAJAR PRECIOS
1541 200+(Px20%)=P 200 [<] 20 [MU] 250.
=200 _ 5 [MU] 50.
A0234F  1-20%
250-200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
__125 150 MU 25.
1+25%
125-100 = 25
6. PORCENTAJE DELTA
t 54l  180-150 o —  180[-] 150 [MU] 20.
CHH o 0%

A0234F 20%
[G— )



* FONTE DE ALIMENTACAO

CITIZEN modelo SDC-444S tem dupla fonte de alimentacédo de
energia (energia solar e bateria de reserva), permitindo operar sob
qualquer condic&o de iluminac&o.
-Fung&o Auto power-off(desligamento automatico)-
A calculadora desliga automaticamente, caso nenhum a tecla seja
utilizada por aproximadamente 10 minutos.

-Troca de bateri

Se for necessério trocar a bateria de reserva, remova a bateria
usada, abrindo a tampa inferior e coloque uma bateria nova,

observando a polaridade indicada.
Portugués

* [NDICE DE TECLAS

[-2¥] : Tecla para Ligar / Limpar Tudo.
[CE/C] : Tecla para Limpar Entrada/ Limpar.

: Tecla para Marca Preco para cima / baixo.
[00—+0] : Tecla de mudanca de digito.

[M+] : Tecla de mais da memoria.

[l Tecla de menos da memoria.
[+ / —] : Tecla para mudar Sinal +
[MR

ecla da rechamada da memoéria.
ecla para limpar a meméria.

[MC p:
[MII+] [MII-] [MII ] : A Segunda Tecla de Meméria
Comutador para selecéo de casa decimal

Modalidade de decimal flutuante
-0-2-3-4- Modalidade de decimal fixo

-A- Modalidade ADICIONAR entra automaticamente a
decimal monetéaria em célculos de adi¢éo e subtrag&o.
154l Arredondamento para cima / Truncamento /

Arredondamento para baixo
Os Sinais do Visor Significam o Seguinte:
MI : A primeira meméria carregada.
MII : A segunda memdria carregada
: Menos ( ou negativo)

E : Erro por transbordamento.

* EXEMPLOS DE OPERACAO
1.Exemplo de calculos

Antes de executar cada calculo, pressione a tecla [%

Exemplo Operacéo com atecla Visualizacdo
153 1x2x3=6 [Re] 0.
1x12[x]3[=] 6.
[CE/C] o
A0234F Hx3=6 2 [x] 2 [CE/C] 3[=] 6.
2+4+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+] 6 [7]
1234 x 100 12345 [00~0] 1234
= 123,400 [x] 100 [=] 123'400
5x3+02=75 5[] 3[:]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
£ x100% =20%  11.2 [+] 56 [%] 20.
30 + (30X 40%) =42 30[+]40 [%] 42,
— (30X 40%) =18 30 [-] 40 [%] 18.
5'=625 5 [=] == 625.
Jias =12 144 /1] 12.
A0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1543 1/30=0.0333.... 30 [] [5] 0.03
1
A0234F ——  _ ] [=
...... @x5 4 —0166.. 2M5H4[[] 0.16
2.Meméria
1] (12x4)-(20+2)= [ 0.
CH) 38 12 [x] 4 [M+] 20 [+] 2 [M-] w10
[MR] w38
A0234E [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] M 60.
20 x3=60 25 [x] 4 [M+] mi 100.
25x 4 =100 [MR] w190,
(total A= 190) 0[5 MIH 4K 2[MIH] 8.
10+5=2 n i
4%x2=8 Mg} i 10.
(total B = 10) [MR] [+] w190
A+B=19 MIg] w10
[= .10
el 0.
3.Constante
1541 2+3=5 2[+3[F] 5.00
413=7 4[] 7.00
nozasp 3X4111=12333  3[x]4.111[] 12.34
3x6=18 6[=] 18.00

4.Erro por transbordamento

123456789012 x 100
=12345678901200

1234567890123

E 123'456'789'012

[00-+0] [x] 100 [=] E 12.3456789012

AC]

0.

5.CALCULO PARA MARCAGAO DE PREGO PARA CIMA & PARA BAIXO

1547 200+(PXx20%)=P 200 [] 20 [MU] 250.
_ 200 o0 [MU] 50.
A0234F  1-20%
250-200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
po_125_ _ o0 MU 25.
1+25%
125-100 = 25
6.PORCENTO DELTA
Tsad 180150 oo 180 -] 150 [MU] 20.
A0234F

20%



* STROMVERSORGUNG

Das CITIZEN Modell SDC-444S wird durch 2 voneinander
unabhangigen Energiequellen versorgt (Entweder durch eine sehr starke
Solarzelle oder durch eine Batterie). Der Rechner arbeitet selbst unter
schlechtesten Lichtbedingungen.

Ist der Rechner 10 Minuten nicht in Betrieb, schaltet er sich
automatisch ab.

-Batteriewechsel-

Soltte die batterie gewechselt werden, entfernen Sie bitte die
Schrauben vom unterteil und tauschen die alte gegen eine neue
batterie aus. Beachten Sie, daf die batterie richtig, entsprechend
der polaritét, eingelegt wird.

* ERKLARUNGEN VON SCHLUSSEL

[-28]: An/Alles Loschen Taste.
[CE/C] : Eingabe loschen / Clear Taste.
[MU] : Preisangabe-oben/unten Taste

: Rechts schub taste. [M+] : Speicher Plus-Taste.
[M-] : Speicher Minus-Taste. [+ /-] : +Vorzeicheneingabetaste.

[MR] : Speicher Abruf-Taste [MC] : Speicher Loschen-Taste.

[MII+] [MI1-] [MI §] : Zweite Memory Taste

A0234F , -

e ) Schalter fir Dezimalauswahlplatz

-F- Gleitkomma-Modus

-0-2-3-4- Festkomma-Modus

-A- ADD-Modus gibt bei Additions- und Subtraktions-

rechnungen automatisch das Dezimalkomma an.

Tsad

[ n) Aufrunden , Abrundenschalter

Die Zeichen in der Anzeige haben die folgende Bedeutung:
MI  Erste Memory geladen. — Minus ( oder negative)
MIl - Zweite Memory geladen E Uberflussfehler.

* BEISPIEL FUR DEN bETRIEB

1.Berechnungsbeispiele
Vor jeder Berechnung bitte die [-2%-] Taste driicken.

Beispiel Tastenkombination Anzeige
153 1x2x3=6 [xc] 0.
1x12[x]3[=] 6.
[CE/C] o0
20234F 5y3=6 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 2,
1234 x 100 12345 [00-+0] 1234
= 123,400 [x] 100 [=] 123'400
5x3+02=75 5[ 3[:]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% = 20%  11.2 [+] 56 [%] 20.
30 + (30 x 40%) =42 30 [+] 40 [%] 42,
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 [FF = 625.
J1aa =12 14411 12.
£0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
W 4 $12.05 =$25.85 1205 [£] 25.85
1543 1/30=0.0333.... 30 [] [=] 0.03
1
A0234F @x5 4 —0166.. 2K5HAFI[) 0.16
2.Speicher
tsal (12x4)-(20+2)= [N 0.
oo 38 12 [x] 4 [M+] 20 [] 2 [M-] w10,
No2sar [MR] M 38
[ c— ) [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3=60 25 [x] 4 [M+] mi - 100.
25x 4 =100 [MR] mi 190.
(total A= 190) 10 [] 5 [MII+] 4 [x] 2 [MII+] 8.
10+5=2 MIg] M0
4x2=8 © win :
(total B = 10) [MR] [] w190,
A+B=19 MIE] . 10.
[ w10
el 0.
3.Konstant
14l 2+43=5 2[+]3[] 5.00
4+3=7 4[] 7.00
nozaqr 3X4111=12333 3] 4.111[] 12.34
3x6=18 6[=] 18.00
4.Korrektur und Uberlauffehler
123456789012 x 100 1234567890123 E 123'456'789'012
= 12345678901200 [00-+0] [x] 100 [F] E 12.3456789012
vy 0.
5.PREISMARKIERUNGS AUF & ABRUNDUNGSRECHNGUNG
1547 200+(P X 20%)=P 200 [+] 20 [MU] 250.
pe 200 _oe0 MU] 50.
A0294F  1-20%
250-200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
po 125 _ o0 MUl 25.
1+25%
125-100 = 25
6. DELTA PROZENT
1sa 18(;;50 «100% = 1801150 [MU] 20.

A0234F 2004
[e— )]



* ALIMENTATION

CITIZEN modele SDC-444S a double alimentation (énergie solaire
haute+pile de soutien d'alimentation) qui peut opérer sous n'importe
conditions de lumiere.

- Arrét d'alimentation automatique -

L'alimentation de cette calculatrice se coupe automatiquement si
laissée allumée et non utilisée pendant environ 10 minutes.
-Remplacement de pile-

Lorsque il faut remplacer la pile,enleve les vis de I'étui bas et
remplacer la pile usée et insérer une nouvelle pile selon la polarité
indiquée.

* SIGNIFICATION DES TOUCHES

-ON1: Bouton de Mise en marche / d’Effacement Général.
[CE/C] : Touche d'annulation de I'Entrée / d’annulation.
[MU] : Touche de hausse / baisse du Prix

[00-0] : Touche de correction.

[M+] : Touche de mémoire plus

[M-] : Touche de mémoire moins

[+ /-] : £ Touche de changement de Signe

[MR] : Rappeler la mémoire

[MC] : Effacer la mémoire

[MII+] [MI1-] [MII ] : Seconde touche de Mémoire

gﬁg Bouton de sélection d’emplacement de la Décimale

-F- Mode de Décimale Flottante

-0-2-3-4- Mode de Décimale Fixe

-A- Le mode ADD entre automatiquement la décimale
monétaire en mode de calculs d’addition et de
soustraction

154 Bouton d’Arrondi supérieur / Arrondi / Arrondi

[ ] inférieur

Les signes de I'Affichage signifient ce qui suit:

MI : La Premiere Mémoire est remplie  —: Moins (ou négatif)

MII : La Seconde Mémoire est remplie. E : Erreur - Débordement
* EXEMPLES D'OPERATIONS

1.Exemples de calculs
Avant d'effectuer tout calcul, pressez sur la touche [% .

Exemple Touche d'Opération Affichage
Ly 1x2x3=6 %] 0
[ .} 1X12[x13[=] 6
[CE/C] o.
A0D234F - =
g 2X376 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+]3 [+] 6 [CE/C] [CE/C] 0
2[+]4[+] 6[=] 12.
1234 x 100 12345 [00-+0] 1234
=123,400 [x] 100 [=] 123400
5x3+02=75 5[x]3[]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [+] 56 [%] 20.
30+ (30 x 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 X [=][=] [=] 625.
Viaa =12 14411 12.
A0234F
...... $14.90 + $0.35 - $1.45 1490 [+] 35 [] 145 [+]
T 1 $1205=$25385 1205 [=] 25.85
1541 1/30=0.0333.... 30 ][] 0.03
CD
A0234F —1— —0166 254 [=] 0.16
,,,,,, x5 %) .166.... + [= .
2.Calcul avec mémoire
sl (12x4)-(20+2)= [Q¥] 0.
o 38 12 [x] 4 [M+] 20 [+] 2 [M-] w10,
[MR] w38
ey [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60,
20x3 =60 25 [x] 4 [M+] w 100.
25 x 4 =100 [MR] w o 190.
(ltgtalsA =2190) 10 [+]5 MIH] 4 [x] 2 [MII+] o0 8.
9= R Mi
4x2=8 MIg] i 10.
(total B = 10) [MR] [£] w190
A+B=19 M) o 10.
= .10
e 0.
3.Constant Calcul
t541 2+3=5 2[+3[] 5.00
M3 4+3=7 4[] 7.00
nozaep 3X4111=12333  3[x]4.111[] 12.34
C o ) 3x6=18 6[=] 18.00
4.Correction et dépassement-erreur
123456789012 x 100 1234567890123 E 123'456'789'012
= 12345678901200 [00—~0] [x] 100 [=] E 12.3456789012
g 0.
5.CALCUL DE LA HAUSSE ET DE LA BAISSE DU PRIX
1541 200+(Px20%)=P 200 [<] 20 [MU] 250.
__200 _ oo MU] 50.
Aoz34F  1-20%
B 250200 =50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
po 125 _ 00 MU 25.
1+25%
125-100 = 25
6.POURCENTAGE DELTA
t 5]  180-150 o — 180 [-]150 [MU] 20.
CHH o 0%

A0234F 20%
[E— )



* Alimentzzione Elettrica

Il calcolatore CITIZEN model SDC-444S ha due risorse di potenza :
energia solare e batteria di riserva e puo funzionare sotto qualsiasi luce.
-Spegnimento automatico-

La calcolatrice si spegne automaticamente se non immettere nessun
dato in circa 10 minuti.

- Sostituzione della batteria -

Nel caso che sia necessario sostituire la batteria,rimuovere il
coperchio inferiore, togliere la batteria vecchia e inserire una nuova
nel compartimento batteria.

* Indice Tasti

[2¥] :Acceso / Tasto cancella tutto.

[CEIC] : Cancella immissione / Tasto cancella.

[MU] : Tasto rialzo/ribasso di prezzo.

[00—0] : Correzione. [M+] : Memoria addizione.
[M-] : Memoria sottrazione. [+ /-] : £Tasto cambio segno.
[MR] : Tasto richiama memoria [MC] : Tasto cancella memoria
[MII+] [MII-] [MII ] : Il Tasto di seconda memoria.

gﬁg Scambio selezione della posizione del decimale

-F- Modalita decimale mobile

-0-2-3-4- Modalita decimale fissa

-A- La modalita AGGIUNGI introduce automaticamente il
decimale monetario nei calcoli di addizione e sottrazione

15473 Scambio arrotondare per eccesso / arrotondare /

arrotondare per difetto
| simboli dello Schermo di visualizzazione significano:
MI La prima memoria caricata.
MII  La seconda memoria caricata.
— Meno ( 0 negativo).
E _Errore di traboccamento aritmetico

di Operazione

1.0Operazione del calcolo normale
Prima di effettuare ciascun calcolo, premere il tasto [%].

Esempio Operazione con il tasto Visualizzazione
tesal 1x2x3=6 3¢ ] 0.
o 1x12[x13[=] 6.
[CE/C] o
A0234F _ -
g 2x3=6 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3 [+] 6 [CE/C] [CE/C] 0.
2+ 4[+6[=] 2.
1234 x 100 12345 [00~0] 1234
= 123,400 [x] 100 [=] 123400
5x3+02=75 5[x]3[:]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [2] 56 [%] 20.
30+ (30 x 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 X [=][=] [=] 625.
Jiag =12 14411 12,
A0234F
...... $14.90 + $0.35 - $1.45 1490 [+] 35 [] 145 [+]
T 4 $1205=$25385 1205 [=] 25.85
1541 1/30=0.0333.... 30 [<] [7] 0.03
1
A0234F @x5 g —0166.. 2K5H4[[] 0.16
2.0Operazione del calcolo memoria
teal (12x4)-(20+2)= [ 0.
CuH > 38 12 [x] 4 [M+] 20 [+] 2 [M-] w10,
[MR] w38
Auzadn [MC] [CE/C] 0.
15x2 15 [x] 2 [M+] 20 [x] 3 [M+] w60,
20 x 25 [x] 4 [M+] w100,
25x 4 =100 [MR] w190,
(total A= 190) 0[5 M+ 4] 2[MI+] 8.
10+5=2 o i
4x2=8 MIIE] ’V:\l:: 10.
(total B = 10) [MR] [£] w190
A+B=19 MIg] w10
[= .10
R 0.
3.0perzaione del calcolo costante
1541 2+3=5 213 5.00
M3 4+3=7 4[5 7.00
nozasp 3X4111=12333  3([x]4.111[<] 1234
C o ) 3x6=18 6[=] 18.00
4.Cancellazione della capacita di operazione superata
123456789012 x 100 1234567890123 E 123'456'789'012
= 12345678901200 [00—+0][] 100 [5] E 12.3456789012
g 0.
5.CALCOLO RIALZO/RIBASSO DI PREZZO
1547 200+(Px20%)=P 200 [<] 20 [MU] 250.
po 200 _ o0 MU] 50.
A0z34F  1-20%
B 550-200=50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
po 125 _ 00 MU 25.
1+25%
125-100 = 25
6.PERCENTUALE DELTA
1543 180-150 o0 180 [-] 150 [MU] 20.
CHH o X00%

A0234F 20%
[—



* Stroomvoorziening Nederlands

De CITIZEN SDC-444S calculator krijgt haar energie van twee
soorten batterijen : zonne-energie en reserve energie.Zij kan onder
alle soorten licht werken.

-Automatische verbreking van de stroomvoorziening-

Als de calculator gedurende 10 minuten niet gebruikt wordt, zal de
Sstroomvoorziening automatisch verbroken worden.

-Het verwisselen van de batterijen-

Wanneer u de batterijvakje wilt verwisselen, moet u eerst het deksel
van het batterijvakje openen en de oude batterijen verwijderen, en
daarna de nieuwe batterijen in het vakje plaatsen.

* Lijst van druktoetsen Nederlands

[-2X]: Inschakelen / Alles wissen.  [CE/C] : Invoer wissen / Wissen
[MU] : Toets voor afgeprijsde en verhoogde prijs

[00—+0] : Veranderen. [M+] : Geheugen optellen.

[M-] : Geheugen aftrekken.

[+ /-] : + Toets voor het veranderen van teken

[MR] : Toets voor het opvragen van geheugen

[MC] : Toets voor het wissen van geheugen

[MII4] [MI1-] [MI1 €] : Toets van het tweede geheugen

S ) Schakelaar voor de selectie van de decimale plaatsen
-F- Drijvende komma decimale modus

-0-2-3-4- Vaste komma decimale modus

-A- De optelmodus gaat automatisch over naar de

monetaire decimale modus bij het optellen en aftrekken

Schakelaar voor het naar boven / naar beneden afronden
De tekens op het beeldscherm hebben de volgende betekenis:
MI Het eerste geheugen is geladen. — Min ( of negatief)
MIl  Het tweede geheugen is geladen. E Overflow fout.

* Voorbeelden van bediening bij

LIl Nederlands
1. Voorbeeldberekeningen

Alvorens met een berekening te beginnen, dient u op de [%] toets te
drukken.

Lsed
& .

Voorbeeld Ingedrukte toetsen \Weergave op het scherm
teal 1x2x3=6 [3¢] 0.
1X12[x]3[7] 6.
[CE/C] o.
20234F 5y3=6 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3[+] 6 [CE/C] [CE/C] 0.
2[+]4[+] 6[=] 2.
1234 x 100 12345 [00-0] 1234
= 123,400 [x] 100 [=] 123'400
5x3+02=75 5[X13[:]0.2[5] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% = 20%  11.2 [+] 56 [%] 20.
30 +(30x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 [=] [F] [=] 625.
Jias =12 1441 12.
£0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1541 1/30=0.0333.... 30 [+] [5] 0.03
1
A0234F @xs @ —0166.. 2KISHAFI[ 0.16
2. Geheugenberekeningen
tsal (12x4)-(20+2)= [Q] 0.
o> 38 12 [x] 4 [M+] 20 [] 2 [M-] w10,
Nonsar [MR] w38
****** [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] mi o 60.
20 x 3 =60 25 [x] 4 [M+] mi - 100.
25 x4 =100 [MR] w190,
(total A =190) 10 [<]5 [MI+] 4 [x] 2 MII+] 8.
10+5=2
Ax228 M) . 10.
(total B = 10) [MR] [] w190,
A+B=19 Mng] w10
[ w10
ON
[Ac 0.
3. Berekeningen met een constante
1541 2+3=5 2[+3[] 5.00
M3 4+3=7 417 7.00
nozzar 3X4111=12333 3 4.111[] 12.34
C M ) 3x6=18 6[7] 18.00

4. Het schrappen van ingetoetste getallen die de
cberekeningcapaciteit overschrijden

123456789012 x 100 1234567800123 E 123456789012
= 12345678901200 [00-0][x] 100[=] E 123456789012
[ 0.
5. BEREKENING VAN DE AFGEPRIJSDE OF VERHOOGDE PRIJS
15 2004P x 209%)=P 200 [+] 20 [MU] 250.
po 20 oo MU 50.
A0234F  1-20%
W 250 200=50
125-(P x 20%)=P 125 [] 25 [+/-] [MU] 100.
po 125 _ o0 MU 25.
1+25%
125-100= 25
6.DELTA PROCENT
Lewl 180-150 . _ 180[-]150 [MU] 20.
CH) o 00%

A0234F 20%
[e— ]



* Strgmforsyningen

CITIZEN SDC-444S regnemaskine er forsynet af to typer batterier :
Solceller og reservebatteriet, hvilken ger det muligt at bruge
regnemaskinen med ethvert baggrundslys.

-Stop stramforsyningen automatisk-

Lommeregneren slukker automatisk for strammen, hvis der ikke har
veeret trykket pd en tast i ca. 10 minutter.

-Skift batteriet-

Nar batteriet skal skiftes, &bner man Iaget nedenunder, tager
batteriet ud, og seetter det nye batteri pa plads.

* Knappers indeks

%] : Teend / slet alt. [CEIC] : Slet indtastning / slet.
[MU] : Prismeerke op/ned [00—+0] : Rettelse knap.

[M+] : Addition hukommelse knap.

[M-] : Subtraktion hukommelse knap. [+ /-] : Skift fortegn

[MR] : Hent hukommelsen [MC] : Slet hukommelsen
[MI1+] [MII-] [MII ] : Den anden hukommelsestast

e Knap til valg af decimalplads

-F- Flydende decimaltaltilstand

-0-2-3-4- Fast decimaltaltilstand

-A- ADD-mode indtaster automatisk valutadecimalen i

additions- og subtraktionsberegninger
Ty Knap til rund op / rund af / rund ned

Tegnene pa displayet har fglgende betydning:

M1 Den fgrste indleeste hukommelse. — Minus ( eller negativ)
MIl  Den anden indleeste hukommelse. E Overlgbsfejl.

* Betjening eksempler

1.Almindelig regningsoperation
Inden du udfarer en beregning, skal du trykke pa tasten [% .

Eksempel Tastebetjening Vis
153 1x2x3=6 [Re] 0.
[ ) 1x12[x13[=] 6.
[CE/C] o

A0234F _ _
(g 2X8=6 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 12.
1234 x 100 12345 [00-0] 1234
= 123,400 [x] 100 [=] 123'400
5x3+02=75 5[] 3[:]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [+] 56 [%] 20.
30+ (30x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 [=] == 625.
Jias =12 1441 12.

£0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [] 145 [+]

+$12.05 = $25.85 1205 [=] 25.85
1541 1/30=0.0333.... 30 [+] [5] 0.03

1
...... Tsay S0166..  2(5[H4[E 0.16

2.Hukommelse regningsoperation

tesal (12x4)-(20+2)= [ 0.
o 38 12 [x] 4 [M+] 20 [] 2 [M-] w10,
MR] w38
ety [MC] [CE/C] o.
15%2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] mi o 60.
20x 3 =60 25 [x] 4 [M+] mi - 100.
25 x4 =100 [MR] w 190.
(total A= 190) 105 M+ 4[] 2[MI+] 8.
10+5=2 o i
4x2=8 (Mite] wi 10
(total B = 10) [MR] [] i 190.
A+B=19 MNIg] w10
[= w19
2] 0.
3.Regningssystem for konstanter
L1541 2+3=5 2[+3[= 5.00
M3 4+43=7 417 7.00
nozasr 3X4111=12333 3 4.111[] 12.34
M) 3x6=18 6[=] 18.00
4.Slet delen over regningskapaciteten
123456789012 x 100 1234567890123 E 123'456'789'012
= 12345678901200 [00-+0] [x] 100 [5] E 12.3456789012
el 0.
5.BEREGNING MED PRISMARKE OP & NED
1541 200+(Px20%)=P 200 [+] 20 [MU] 250.
- 200 _ oo MU] 50.
A0234F  1-20%
W 250 200=50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
po 125 _ 00 MU 25.
1+25%
125-100 = 25
6.DELTAPROCENT
ts4] 180-150 o = 180 [-] 150 [MU] 20.
CH) o *00%

A0234F 200
[— )



* CHABXEHWE SHEPTUEWN

Mogenb CITIZEN SDC-444S umeeT [BOVHOE NMWUTaHWe (COMHeuHble
arnemeHTbl +6arapest) 1 crocobHa pabotats npu niobom ocseLLeHn.
-ABTOMaTWNYECKOE OTKITYEHNE NUTAHMS-

3T0T KanbkynsTop obnaaaeT yHKUMEN aBTOMATUYECKOTO OTKIOYEHWS
areKkTponuUTaHus, Gnaropapst Yemy nWTaHWe OTKIIOYaeTCs, ecnv B
TeueHre 10 MUHYT He NPOV3BOAMIOCH HUKaKWX onepaLyii Ha KaBuLLax.
-3ameHa 3nemMeHTOB NUTaHus-

Bnaropapsi  pgBoHOMYy nuTaHwo, Gatapew, ycTaHaBnvMBaemble C
obpaTHOl CTOpOHbI YCTpOICTBa, pabotatoT anutensHoe Bpems. Ecnn
n3obpaxeHMe Ha [Aucnnee CTaHOBUTCS  HEACHbIM,  Heobxoaumo
3ameHnTb Gatapen. CHUMMTE KPBILLKY C HWXHEro otceka. Vssnekute
cTapble GaTapeu v BCTaBbTe HoBble GaTapen, cobrnioaast MoMnspHOCTb.

* HAZHAYEHUE KNABULL

[9Y]  : Bknouenme nuTaHus / CBPOC BCEX 3HAUEHWIA.
(ﬁg/C C6poc uucna / Copoc.

[MU] : Poct/napeHnue LeHbl [+ /-] : #NepemeHa 3Haka
[00—+0] : KnaBuiwa «3aboi» (knasuwa npasku Y1cna).

[M+] : KnaBuwa npubasneHus B peructp namstut.

Knaswiua BbIMUTaHWS U3 PerncTpa namsTu.

[MR] : Bbi3oB uncna u3 namatu [MC] : C6poc namsitn
[MII+] [MI1-] [MI1§] : KnaBuwuu BBO[a/BbIBOAA YKCTa B PEFUCTP
BTOPOV NamaT

gﬁg MepeknioyaTens MecTa AECATUYHOTO 3HaKa
—F- Pexxum nnasatoLueii 3ansiTon

-0-2-3-4- Pexum (PUKCUPOBaHHOI 3ansToit

-A- Pexum ADD—-aBTOMaTU4eCKuUin BBOA, ABYX

AECATUYHbIX 3HAKOB NPU CNOXEeHUU 1 BbIMUTaHUN
AEHEeXHbIX CyMM

[ ) Okpyrnexue Baepx / OkpyrneHue / OkpyrneHme BHU3

3HayeHue UHAMKATOPOB 3KpaHa:

MI : arpyxeHa 1-5 namsiTb.

MII : 3arpyxeHa 2-s1 namsTb.

— : MuHyc ( unu oTpuuatenbHoe Y1cro)

E : Ownbka nepenonHexus

1.Mpumepbl pacyéToB
Mpexae YeM HayaTb BbIYUCIIEHUS, HAXKMUTE KNaBuULLY [%].

Mpumep Knasuim OkpaH
tesl 1x2x3=6 [Rc] 0.
[ ! 1[x]12X13[=] 6.
[CE/C] 0.
A023E 5x3=6 2[x] 2 [CE/C] 3[=] 6.
2+44+6=12 2[+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 12.
1234 x 100 12345 [00~0] 1234
= 123,400 [x] 100 [=] 123'400
5x3+0.2=75 5[x]3[+]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20% 1.2 [+] 56 [%] 20.
30+ (30 x40%) =42 30 [+] 40 [%] 42,
30 - (30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 === 625.
Vias =12 1441 12.
A0234F

...... $14.90 +$0.35 - $1.45 1490 [+] 35 [] 145 [+]
M 4 §12.05=$25.85 1205 [] 25.85
1543 1/30=0.0333.... 30 [+] =] 0.03

1
...... @xsa) =0.166.... 2[x]5[-]4[<][=] 0.16

2.0nepauum ¢ namMATbO

1sul (12x4)-(20+2)= [Q] 0.
o 38 12 [x] 4 [M+] 20 [<] 2 [M-] w10
[MR] w38
Aoty [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x 3 =60 25 [x] 4 [M+] w100
25x 4 =100 [MR] w190
gtgta\sA =2190) 10 [=] 5 [MII+] 4 [x] 2 [MI1+] 8.
4x228 MIE] -0,
(total B = 10) [MR] [] w190
A+B=19 MIg] w10
= w19
-AC 0.
AC
3.BbluncneHns ¢ KOHCTaHTON
1541 2+3=5 2+ 3= 5.00
M3 4+3=7 419] 7.00
nozaap 3X4111=12333  3[4.111[7] 12.34
3x6=18 6[=] 18.00
4. VicnpaBneHue oLMG0K U c6poC OLIMGKM NPU U3BbLITKE YNCIOBBLIX 3HAKOB
123456789012 x 100 1234567890123  E 123'456'789'012
= 12345678901200 [00—+0] [x] 100 [=] E 12.3456789012
g 0.
5.PACHET POCTA U NAQEHUA LIEH
1541 200+(Px20%)=P 200 [<] 20 [MU] 250.
- _200 _, [MU] 50.
a0234F  1-20%
250-200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
__125 _ MU] 25.
P=Tras 100
125-100 = 25
6.MPUPOCT NPOLIEHTOB
ts41  180-150 o~ 180[-] 150 [MU] 20.
ca o X100%

A0234F 209
CD



Kalkulator CITIZEN, model SDC-444S jest zasilany podwadjnie
(bateria stoneczna + bateria zwykta) Kalkulator pracuje w kazdych
warunkach oswietlenia.

-Funkcja automatycznego wylaczenia-

Kalkulator wylgcza sig¢ automatycznie w przypadku jesli zaden z
przyciskéw nie zostanie naci$nlety w ciggu 10 minut.

-Wymiana baterii-

Jesli konieczna jest wymiana baterii nalezy otworzy¢ dolng uwage
na odpowiednia polaryzacje.pokrywe, usuna¢ stare baterie i wlozy¢
nowe zwracajac.

* OPIS KLAWISZY

[% : Zasilanie /Kasowanie zawarto$ci pamigci .

[CE/C] : Kasowanie liczby / Kasowanie.

[MU] : Przyrost/obnizka cen. [+ /-] : #Zmiana znaku

[00-0] : Klawisz powrotu [M+] : Przycisk wprowadzenia do
pamieci ze znakiem plus

[M-] : Przycisk wprowadzenia do pamieci ze znakiem minus
[MR] : Klawisz MR (Klawisz wywolania z pamigci)

[MC] : Klawisz MC (Klawisz kasowania pamigci)

[MII+] [MII-] [MII €] : Druga pamie¢

S b Przetacznik liczby miejsc po przecinku

-F- Tryb zmiennej liczby miejsc po przecinku
-0-2-3-4- Tryb state] liczby miejsc po przecinku
-A- Tryb ADD-Automatycznie wstawianie dwuch znakéw

po przecinku dziesietnym pod czas dodawania lub
odejmowania sum pienieznych

1514 Zaokraglenie w dot / Zaokraglenie w gore /
Przetgcznik trybu zaokraglenia

w W
MI : Zaladowana pierwsza ;’Ja ie¢  —: Minus ( lub liczba ujemna)
MII : Zaladowana druga pamig¢ Btad przepemnienia.

ZYKLADY DZIALAN

1.Przykladowe obliczen
Zanim rozpoczniesz obliczenia, nacis$nij klawisz [%].

Przyktad Klawisze Ekran
1543 1x2x3=6 8] 0.
1X12[x]3[F] 6.
[CE/C] 0
A0234F - -
g 2x3=6 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 12.
1234 x 100 12345 [00~0] 1234
= 123,400 [x] 100 [=] 123'400
5x3+02=75 5[x]3[+]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
1;—'62 x 100% = 20% 11.2 [+] 56 [%] 20.
30 + (30 x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 == =] 625.
J1aa =12 1441 12.
£0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
M 4 §12.05=$25.85 1205 [=] 25.85
15473 1/30=0.0333.... 30 [+] [=] 0.03
1
A0234F X549 =0.166.... 2[x]5[-]4[+][=] 0.16
2.0bliczenia z wykorzystaniem pamigci
1541 (12x4)-(20+2)= [QF 0.
o 38 12[x]4M+20[5]2[M-] w10
no23ar [MR] M 38
[— [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20 x 3= 60 25 [x] 4 [M+] mi 100.
25x4 =100 [MR] w190,
(:gta‘ A=2190) 10[=]5MI+]4[x]2[MI+] 8.
+5= R v
4x2=8 [MIg] i 10.
(total B = 10) [MR] [+] w190
A+B=19 Mg -0
= w19
[51] 0.
3.Stala
154l 2+3=5 2[+]3[=] 5.00
M3 4+3=7 4[=] 7.00
Ao234p 3X4111=12333  3[x4.111[F] 12.34
""" 3x6=18 6[=] 18.00
4. Przepetnienie pamigci
123456789012 x 100 1234567890123  E 123'456'789'012
= 12345678901200 [00+0] [x] 100 [<] E 12.3456789012
81
AC 0.
5.PRZYROST | OBNIZKA CEN
1541 200+(P x20%)=P 200 [+] 20 [MU] 250.
- 200 _ [MU] 50.
= =250
Ao234F  1-20%
B 250200 =50
125-(P x 20%)=P 125 [+] 25 [+/] [MU] 100.
__ 125 _ MU] 25.
P= om0
125-100 = 25

6.PRZYROST ODSETEK
Lowl 180150 oo 180[-] 150 [MU] 20.

A0234F 209
[— )
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ts4l 1x2x3=6 98 0
[an e 1[x]2[x]3[=] 6.
[CE/C] o
A0234F
»»»»»» 2x3=6 2[x] 2 [CE/C] 3[=] 6
D5 as6=12 2[+]3[+] 6 [CE/C] [CE/C] 0
2[+]4[+]6[=] -
1234 x 100 12345 [00-0] 1234
=123,400 [x] 100 [=] 123'400
5x3+02=75 5[x]3[+]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
” 2 12 100%=20% 1.2 [+] 56 [%] 20.
30 +(30x40%) =42 30 [+] 40 [%] 42.
—(30x40%)=18  30[-]40[%] 18.
5'=625 5 == [=] 625.
Jiaa =12 1441 12.
A0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
W 4 §12.05=$25.85 1205 [=] 25.85
Ts41 1/30=00333.... 30 [+ [=] 0.03
1
RO2HME oot <0166, 2[5 4[] (=] 0.16
5S04 Gl 2
1l (12x4)-(20+2)= [ 0.
38 1244 MH20[2M-] w10,
[MR] w38
% [MC] [CE/C] 0.
15x2 =30 1512 M+ 20 [X]3[M+]  w  60.
20x3=60 25 [x] 4 [M+] w100
25x4 =100 MR] wi 190.
(total A = 190) 10 [+] 5 [MII+] 4 [x] 2 [MII+] M 8.
1‘1(’25:‘82 MIIg] 0.
(total B = 10) [MR] [+] Wi 190.
A+B=19 [MII§] w10
= w19
B! 0.
i) clua 3
tsel 2+43=5 2[+]3[=] 5.00
M 4+3=7 419 7.00
nozger 3X4.111=12333  3[q4.111[] 12.34
CH ) 3x6=18 61 . 1800
Q30 gdail) Uad Cida 4
123456789012 x 100 1234567890123 E 123'456'789'012
= 12345678901200 [00=0]p 100 (<] E  12.3456789012
[T]
Sl g ) ) sl aslad s 5
1547 200+(Px20%)=P 200 [+] 20 [MU] 250.
__200 _, MU] 50.
Aoz34r  1-20%
W 250200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
p=_125 125 =100 [MU] 25.
1+25%
125-100 = 25 R
Ay yal) a6
Tl 18?;;50 «100% = 1801150 [MU] 20.
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* Sumber tenaga listerlk

Calculator CITIZEN model SDC-444S mendapat listerik dari dua
macam baterai : tenaga matahari dan tenaga simpanan, sehingga
calculator ini bisa bekerja dibawah segala macam sinar.

-Sumber tenaga bisa bekerja dan tutup secara otomatis-

Jikalau dalam kira2 10 menit calculator tidak bekerja maka sumber
tenaga akan berhenti bekerja otomatis.

-Cara mengganti baterai-

Jikalau baterai perlu diganti, anda harus membuka dulu kotak
baterai dan mengeluarkan baterai lama. Sesudah itu anda baru bisa
memasukkan baterai yang baru didalam kotak itu.

* Daftar fungsi tuts

%] : Tombol Power On / Hapus Semua

[CE/C] : Tombol Power On / Hapus Semua

[MU] : Tombol Mark-up/down harga

[00-+0] : Koreksi. [M+] : Memory penambahan.
[M-] : Memory pengurangan. [+ /-] : £Tombol pengubah tanda
[MR] : Tombol Pemanggil Memori  [MC] : Tombol Penghapus Memori
[MII+] [M11-] [MII €] : Tombol Memori Kedua

[ ) Switch pemilihan jumlah desimal

-F- Mode desimal mengambang

-0-2-3-4- Mode desimal tetap

—A- Mode ADD secara otomatis akan memasukkan

desimal keuangan pada operasi perhitungan
penambahan dan pengurangan
154 Switch untuk pembulatan ke atas / pembulatan ke
[ ] bentuk yang lebih sederhana / pembulatan ke bawah
Arti dari Tanda-tanda yang Muncul di Layar:
M1 Digunakan memori pertama. — Minus ( atau negatif)
MIl  Digunakan memori kedua. E Kesalahan Overflo

* Contoh cara pakai

1. Cara kalkulasi biasa
Sebelum melakukan setiap perhitungan, tekanlah dahulu tombol [%].

Contoh Operasi Tombol Tampilan di Layar
Ty 1x2x3=6 28 0.
[ ) 1x12[x13[7] 6.
[CE/C] o.
A0234F - -
g 2X376 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+]3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 12.
1234 x 100 12345 [00~0] 1234
=123,400 [x] 100 [=] 123'400
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [] 56 [%] 20.
30+ (30 x 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 [x] [=] [=] [7] 625.
Jiag =12 14411 12,
£0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1541 1/30=0.0333.... 30 ][] 0.03
1
AQ234F x5y S0166..  2XISEHI4FI[E] 0.16
2.Cara melakukan kalkulasi dengan memory
1sal (12x4)-(20+2)= [Q¥] 0.
o 38 12 [x] 4 [M+] 20 [] 2 [M-] w10,
[MR] w38
Auzadn [MC] [CE/C] 0.
15x 2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60,
20x3 =60 25 [x] 4 [M+] w 100.
25 x 4 =100 [MR] w o 190.
(total A= 190) 0[5 MIH 4K 2[MIH] 8.
Y i) "0
4x2=8 N it :
(total B = 10) [MR] [£] w190
A+B=19 MNg] w10
[= .10
el 0.
3.Cara kalkulasi dengan bilangan konstan
1541 2+3=5 2[+3[= 5.00
M3 4+43=7 417 7.00
nozaep 3X4111=12333  3[x]4.111[] 12.34
C W ) 3x6=18 6[=] 18.00
4.Pengnapusan kalkulasi yang melewati
123456789012 x 100 1234567890123  E 123'456'789'012
=12345678901200 [00—+0] [x] 100 [5] E 12.3456789012
g 0.
5.PERHITUNGAN MARK-UP & DOWN HARGA
1541 200+(Px20%)=P 200 [+] 20 [MU] 250.
p= 290 _ o5, [MU] 50.
A0234F  1-20%
W 250 200=50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
po_ 125 _ 50 MU 25.
1+25%
125-100 = 25
6.PERSEN DELTA
154 180-150 o —  180[-] 150 [MU] 20.
CHH o X100%

A0234F 20%
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CITIZEN SDC-444S

[CE/C]:
[00~0] :
M-]:
[MR] :

[Re]
tsay 1x2x3=6 e 0.
1x2[x]3[=] 6.
[CE/C] o
A0234F Hx3=6 2 [x] 2 [CE/C] 3[=] 6.
2+4+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+] 6 7] 12,
1234 x 100 12345 [00-+0] 1234
= 123,400 [x] 100 [=] 123'400
5x3+02=75 5[] 3[:]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [] 56 [%] 20.
30 + (30 x 40%) =42 30 [+] 40 [%] 42,
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 51X [=][=][=] 625.
Jiag =12 1441] 12.
£0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
L5473 1/30=0.0333.... 30 [] =] 0.03
1
A0234F ——  _ ] [=
...... @x5 4 —0166.. 2M5H4[[] 0.16
2.
tse] (12x4)-(20+2)= [ 0.
38 12 [x] 4 [M+] 20 [£] 2 [M-] w10,
[MR] w38
A0234E [MC] [CE/C] o.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20 x3=60 25 [x] 4 [M+] w100
25x 4 =100 [MR] w190
(total A= 190) 0[5 MIH 4K 2[MIH] 8.
10+5=2 n i
ix2e8 MIIE] i 10.
(total B = 10) [MR] [+] w190
A+B=19 MNg] w10
[= .10
el 0.
3.
teal 2+43=5 2[+]3[F] 5.00
M3 4+3=7 417 7.00
nozaqr 3X4111=12333 3] 4111[] 12.34
CH ) 3x6=18 6[=] 18.00
4.
123456789012 x 100 1234567890123 E 123'456'789'012
= 12345678901200 [000] [x] 100 [<] E 12.3456789012
el 0.
5 &
154l 200+(P x 20%)=P 200 [+] 20 [MU] 250.
__200 _ o MU 50.
A0234F  1-20%
250-200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
p=_125 _,0 MU 25.
1+25%
125-100 = 25
6.
ts4]  180-150 180 [-] 150 [MU] 20.

x100% =

AO234F

20%



+ TPOVOROTIA

To CITIZEN SDC-444S cival pia apiBuounxavi pe dITTAR Tpogodooia
(nhiakn evépyeia upnAig 10X00G + ePEdPIK pTTaTapia), n otoia AeIToupyei
KATW aTTO OTTOIECBNATIOTE TUVONKES QWTICHOU.

-A\&Iroupyia autépaTou KAEICINATOG-

H apiBuounxavry kAeivel autépata €av dev  €xel UTTApEEl  Kapia
TTANKTPOAGYNON yia 10 TTepitrou AeTrTd.

-ANayr| pTrarapiag-

Edv xpeiaoTei va aAAaxTEl N EQEDPIKN) PTTATAPIC, AVOIGTE TO KATW TTEPIBANMA yia
VO OQAIPECETE TNV TIOAQIG UTTATAPIO KOl VO EICAYETE IO VEQ UTTATOPIa PE TNV
UTTODEIKVUGHEV TTOAIKOTNTAL

* EYPETHPIO NAHKTPQN

2] : NMArkTPO avoiypartog / Biaypagri GAwV.

[CE/C AfKTPO dlaypaPrig TTANKTPOAGYNoNG / dlaypagrg

[MU] : MARKTpO adgnong/ueiwong TipAg

[00—0] : MAAKTPO PETATOTTIONG TTPOG TA TTOW

[M+] : MAAKTPO PVAHNG OUV [M-] : MAAKTPO pVvAUNG TTANV

[+ /-] : MAAKTPO aAAayrig TTPOCAKOU +

[MR] : MAAKTPO avaKANONG UVAKNG [MC] : MAAKTPO Biaypagpng HVAENG
[MI1+] [MII-] [MI1 €] : To TAKTpO BeUTepng PVAKNG

o AiakoTITNG €TMAOYNG B€0NG UTTODIACTOARG
Aeiroupyia petaBAnToU apiBpoU SekadIKWV
_ ANermoupyia oTaBepou apiBuou dekadIkwy
—A- H Aerroupyia TpooBAKng £10GyEl QUTOUATA TO VOUIOHATIKG
dekadikd aTig TTPAgEIS TTPOOBEONG Kal apaipeong
1541 Alok6TITNG  OTpoyyuAoTroinong  TTPOg  Ta EMAvw  /
[an =) OTpoyyuAoTIoinong / oTpoyyuAoTroinong TTpog Ta KATwW
O1 tv5£i§tl; Tng 086vng onpaivouv Ta €§ng:
: H mpwtn wopmusvn uviun - I’l)\r]v (A apvnTIKO)
0 E: EiA

MIl : H de0tep
* TMAPAAEITMATA AEITOYPIIAZ

1. Napadeiypara utroAoyiopwv
MPIV TIPAYHATOTIOINGETE KABE UTIOAOYIGHO, TIATAOTE TO TTARKTPO [t

Mapddelypa Aeitoupyia TTAKTpOU 08dvn
tesal 1x2x3=6 [Re] 0.
o 1x]2[x]3[=] 6.
[CE/C] o
A0234F
------ 2x3=6 2 [x] 2 [CE/C] 3[=] 6.
D5 as6=12 2[+]3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 12.
1234 x 100 12345 [00-+0] 1234
=123,400 [x] 100 [=] 123'400
5x3+02=75 5[x]3[*]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
12 o 100% =20% 1.2 [+] 56 [%] 20.
30 +(30x40%) =42 30 [+]40 [%] 42.
—(30x40%)=18 30 [-]40 [%] 18.
5'=625 5[x] [=] [=] [7] 625.
Viag =12 14411 12.
A0234F §14.90 + $0.35 - $1.45 1490 [+] 35 [] 145 [+]
T 1 §1205-525.85 1205 [=] 25.85
1541 1/30=0.0333.... 30 [+][7] 0.03
1
A0234F —0M — = 2] [=
...... x5-a) -0186.. 2151411 0.16
2. YoAoyiop6g pvijung
tssl (12x4)-(20+2)= [QY] 0.
o 38 12 [x] 4 [M+] 20 [<] 2 [M-] w10
[MR] w38
A0234F
[o— ) [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60,
20x 3 =60 25 [x] 4 [M+] i 100.
25x 4 =100 [MR] w190,
(101?\ A=190) 10 [=] 5 [MII+] 4 [x] 2 [MI1+] 8.
A Mg R
(total B = 10) [MR] [] w190
A+B=19 MIE] -0,
= w19
-AC 0.
3. YmoAoyiopdg oTabepdg
1541 2+3=5 2[+3[7] 5.00
@M 4+3=7 417] 7.00
nozaap 3X4111=12333  3[x4.111[7] 12.34
CH )3x6=18 6[=] 18.00
4. Alaypagn o@daApatog utrepxeiliong
123456789012 x 100 1234567890123  E 123'456'789'012
= 12345678901200 [00—+0] [x] 100 [=] E 12.3456789012
[ 0.
5. YmoAoyiopog augnong & Meiwong Tipng
1541 200+(Px20%)=P 200 [<] 20 [MU] 250.
p=_200__ 550 MU] 50.
Aozg4E  1-20%
C— 250200 = 50
125-(P x 20%)=P 125 [*] 25 [+/-] [MU] 100.
p=_125_ _450 MU 25.
14+25%
125-100 = 25
6.DMOZOZTO AEATA
154l 133;)50 %100% = 180 [-]1150 [MU] 20.
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If you want to dispose this product, do not mix with
general household waste. There is a separate collection
systems for used electronics products in accordance with
legislation under the WEEE Directive (Directive
2002/96/EC) and is effective only within European Union.

Wenn Sie dieses Produkt entsorgen wollen, dann tun Sie
dies bitte nicht zusammen mit dem Haushaltsmdill. Es gibt
im Rahmen der WEEE-Direktive innerhalb der
Europaischen Union (Direktive 2002/96/EC) gesetzliche
Bestimmungen fiir separate Sammelsysteme fiir gebrauchte
elektronische Geréte und Produkte.

Si vous souhaitez vous débarrasser de cet appareil, ne le
mettez pas a la poubelle avec vos ordures ménageéres. Il
existe un systeme de récupération distinct pour les vieux
appareils électroniques conformément a la Iégislation
WEEE sur le recyclage des déchets des équipements
électriques et électroniques (Directive 2002/96/EC) qui est
uniquement valable dans les pays de I'Union européenne.
Les appareils et les machines électriques et électroniques
contiennent souvent des matiéres dangereuses pour
I'homme et I'environnement si vous les utilisez et vous vous
en débarrassez de fagon inappropriée.

Si desea deshacerse de este producto, no lo mezcle con
residuos domésticos de caracter general. Existe un
sistema de recogida selectiva de aparatos electrénicos
usados, segun establece la legislacion prevista por la
Directiva 2002/96/CE sobre residuos de aparatos
eléctricos y electronicos (RAEE), vigente Unicamente en la
Unién Europea.

Se desiderate gettare via questo prodotto, non
mescolatelo ai rifiuti generici di casa. Esiste un sistema di
raccolta separato per i prodotti elettronici usati in
conformita alla legislazione RAEE (Direttiva 2002/96/CE),
valida solo all'interno dell’Unione Europea.

Deponeer dit product niet bij het gewone huishoudelijk afval
wanneer u het wilt verwijderen. Erbestaat ingevolge de
WEEE-richtlijn (Richtlijn 2002/ 96/EG) een speciaal
wettelijk  voorgeschreven verzamelsysteem  voor
gebruikte elektronische producten, welk alleen geldt
binnen de Europese Unie.

Hvis du vil skille dig af med dette produkt, ma du ikke smide
det ud sammen med dit almindelige husholdningsaffald. Der
findes et separat indsamlingssystem for udtjente
elektroniske produkter i overensstemmelse med lovgivnin-
gen under WEEE-direktivet (direktiv 2002/96/EC), som
kun er gaeldende i den Europzeiske Union.

Se quiser deitar fora este produto, ndo o misture com o lixo
comum. De acordo com a legislagdo que decorre da
Directiva REEE — Residuos de Equipamentos Eléctricos e
Electronicos (2002/96/CE), existe um sistema de recolha
separado para os equipamentos electrénicos fora de uso,
em vigor apenas na Unido Europeia.

Jezeli zamierzasz pozby¢ sig tego
produktu, nie wyrzucaj go razem ze
zwyktymi domowymi odpadkami. Wediug
dyrektywy WEEE (Dyrektywa
2002/96/EC) obowig zujacej w Unii
Europejskiej dla uzywanych produktow
elektronicznych nalezy stosowac

oddzielne sposoby utylizacji. _
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